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He said, “I cannot drive them home” What is the indirect sentence of this.
Description

He said, “I cannot drive them home” What is the indirect sentence of this.
(A) He said that he can not drive them home.

(B) They said that he could not drive them home.

(C) He said that he could not drive them home.

(D) None of the above

Correct Answer is: C
Category

1. English Solved MCQS for All Tests
Tags

1. “l cannot drive them home” What is the indirect sentence of this.
2. He said

Date Created
January 2023
Author

bookshosting

Page 1
For More, Click here https://bookshosting.com/



